
r e v u e
RVU-3FTXDP AND RVU-4FTXDP WALL MOUNT WINE RACK INSTRUCTIONS:

EACH RVU-3FTXDP OR RVU-4FTXDP CONTAINS:

• 1 PUNT RACK • 1 NECK RACK

TOOLS NEEDED :
• 1 SPIRIT LEVEL • 1 TAPE MEASURE • 1 SCREWDRIVER
• 1 MARKING PEN OR PENCIIL • DRILL AND DRILL BITS (NECESSARY IN SOME CASES)

BEFORE STARTING, OPEN ALL PACKAGING AND TAKE INVENTORY TO MAKE SURE YOU HAVE EVERYTHING.

          FASTENERS:

THERE ARE PRE-DRILLED MOUNTING HOLES IN EACH STRIP. APPROPRIATE FASTENERS MUST BE UTILIZED IN EVERY 
MOUNTING HOLE FOR PROPER INSTALLATION. FASTENERS ARE NOT INCLUDED WITH THE REVUE RACK. 
HOWEVER, WE RECOMMEND THE FOLLOWING FASTENERS FOR THESE SURFACES.

• WOOD SURFACE: #8 x 1-1/4" WOOD SCREW
• DRYWALL/WALLBOARD SURFACE: #8 x 1-1/4" SCREW WITH SPIRAL INSERTS FOR THE BOTTOM TWO

HOLES IN EACH STRIP (4 TOTAL) AND AN EXPANDING HOLLOW WALL ANCHOR SUCH AS A TOGGLE
BOLT FOR THE TOP HOLE IN EACH STRIP (2 TOTAL)

• CONCRETE, BRICK OR STUCCO: 3/16" x 1-3/4" MASONRY SCREW OR #8 x 1-1/4" SCREW WITH
APPROPRIATE SIZE EXPANDING ANCHOR

INSTALLATION INSTRUCTIONS:
1- DETERMINE WHICH DIRECTION THE BOTTLE NECKS SHOULD POINT.
   1.1. IF THE BOTTLE NECKS ARE TO POINT TO THE RIGHT, THE PUNT RACK MUST BE INSTALLED TO THE LEFT
         OF THE NECK RACK. SEE IMAGE BELOW FOR REFERENCE.

      1.2. IF THE BOTTLE NECKS ARE TO POINT TO THE LEFT, THE PUNT RACK MUST BE INSTALLED TO THE   RIGHT  
         OF THE NECK RACK. SEE IMAGE BELOW FOR REFERENCE.

PUNT RACK PUNT RACK

BEND
FACING EACH OTHER

BEND
AGAINST EACH 

OTHER

BOTTLE NECKS TO THE RIGHT (1.1) BOTTLE NECKS TO THE LEFT (1.2)

 NECK RACK
(CRADLES ARE HIGHER THAN THE PUNT RACK)

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line

GM501
Line



MOUNTING HARDWARE NOT PROVIDED2 - LAYOUT THE WALL
 2.1. THE CENTERLINE OF THE FIRST RACK (EITHER PUNT           

      OR NECK) MUST BE AT LEAST 2-3/4" FROM   
      ADJACENT WALLS OR OBSTRUCTIONS. THIS
      ALLOWS FOR THE BOTTLE TO OVERHANG THE RACK.
  2.2. FROM THE CENTERLINE OF THE FIRST RACK, 

 MEASURE 7 1/2" TO THE CENTERLINE OF THE NEXT  
     RACK.
  2.3. (FOR MULTIPLE COLUMNS) LOCATE THE CENTERLINE

 OF THE NEXT RACK 5 1/2" AWAY FROM THE PRIOR
     RACK".
  2.4. (FOR MULTIPLE COLUMNS)
      CONTINUE DIMENSIONS ALTERNATING BETWEEN   

 7 1/2" (SET OF RACKS) AND 5 1/2" (FOR SPACE IN       
      BETWEEN EACH SET OF RACKS).

3 - DETERMINE APPROPRIATE FASTENERS FOR THE WALL 
SURFACE AND FASTEN THE RACKS TO THE WALL.
   3.1. REFERENCE THE FASTENERS SECTION FOR 
     RECOMMENDED FASTENER TYPES.
   3.2. USING A LEVEL, ENSURE THAT EACH RACK IS 
     PLUMB PRIOR TO SECURING IT TO THE WALL.    
  3.3. TOPS OF THE RACKS SHOULD BE EVEN
  3.4. SECURE THE RACK TO THE WALL, USING THE    
     APPROPRIATE FASTENERS, THROUGH THE PRE-DRILLED   
     MOUNTING HOLES.

4 - STACKING RACKS (OPTIONAL)
  4.1. POSITION THE RACKS DIRECTLY ABOVE OR BELOW    
     EACH RACK. THE CURVE DETAIL SHOULD CONTINUE  
     MAKING IT LOOK LIKE THE STACKED RACKS AS ONE.

TOP RACK

BOTTOM RACK

CONTINUED CURVE DETAIL

2 3/4"
7 1/2"

5 1/2"
7 1/2"

GM501
Rectangle

GM501
Line

GM501
Line

GM501
Line

GM501
Line




